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2. [Maamum mark: 6]

The eunlative frequency curve below represents the heights of 200 sixteen-year-old boys.
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Use the graph to answer the following.
mE )
| (8} Write down the median value.%% "{?% ,,,j {1 mark]

(b} Aboyis chosen at randone. Find the probability that he 1s shorter than 161 em.  [2 marks]
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(¢} Given that 82 % of the boys are isller than 7 cm, find A. {,:3 f{;} j [3 marks]
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2. 4. The eye colour of 97 stadents is rocorded in the chart below.

Brown. Blue | - G:rcm
Male 2% 16 R
Female in 19

One student is selecied at randowm, _ o
(a} Write down the probability that the student is a male. o

£b)  Writs down the probability that the ';mdi:nt has grccn eycs gﬁ:éﬂ ﬁm
a female,

{c} Findthe pmbslnhty that the studeslt has grfmeyesor ) ﬂlale.
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3. 7 PMavimum mark: 7i

the boxes.

80 % of the boxes made by machine A pass ms;)eeﬁon
90 % of the boxes made by machine B pass imspection.

Abox is selected at mdnm.

o | iqu\fg ) 9‘9\
} O L\% _ .'Fo\'i"} 369 U7

g ;"" o} e ,9 h

\ { j‘} @@Q

0’40




tn

~6— MI12/5/MATME/SPI/ENGITZ2/XX
{Maximum mark: §]

The random variable X has the following probability distribution, with P{X >1)=0.5.

X 0 1 2 3
PX=x)| p g ¥ 0.2
. R
P e (;:\
{(a} Find the value of r'f@{sﬁ / LD {2 marks]
(b) Giventhat E(X) =14, find the value of p and of 4. N [6 marks]
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[Maximum mark: 7]

A box holds 240 eggs. The probability that an egg is brown is 0.05.

fe
(a) Find the expected number of brown 2ggs in the box. QLEE AR

(b} Find the probability that ?hcrc are 15 brown cggs in i’he box. r;m—:iﬂmzﬂ“@ marks]
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20 minutes and a fstmdarﬂ deviation of 1.25 mmz;b::s,

(a) A student is selecied at-random. . Find the b@htythatﬂlt Shad:mfcampf e faghe

in less than 21.8 minutes. Nol MQ\ c ( [ODI ‘RL‘G
(b)
W(ﬁom et a)'
P(eR= 0,605 —
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7. 1. [Maximum wmark: 6]

() Find RPQ) (;6

&
(b) Find PR. C} it %
65 ~an

{c} Find the arca of APQR..
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